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3apanue 1

life-lives
boy-boys
ox-oxen
leash-leashes
quiz-quizzes

3apgaHue 2

1. Can you give me a piece of advice?

2. | worked as a shop assistant in the local supermarket.

3. The young woman dressed in red entered the room where the whole company gathered.
4. Einstein won the Nobel Prize in Physics in 1921.

3apaHue 3

narrow-narrower-the narrowest

funny-funnier-the funniest

friendly-friendlier or more friendly-the friendliest
sad-sadder-the saddest

green-greener-the greenest

confidential-more confidential-the most confidential

3apaHve 4

1. Man is using more and more the organic fuel sources.
- Yenosek Bcé 6onbLue 1 6onblue MCNonb3yeT opraHnyeckme UCTOUHNKK TONmnmMBea.

2. The lower the combustible gases are cooled, the worse they will burn.
- UeM HMXe oxnaxkaaloTcs roprodme rasbl, TEM Xy>Ke OHU ByayT ropeTsb.

3apaHuve 5

1. Don't touch this ticket. It's mine.
- He tporan atot 6unet. OH MOM.

2. We saw her in that shop but she didn't see us.
- Mbl BUaenu ee B TOM MarasmHe, HO OHa He yBuaera Hac.

3. Does anybody love Chemistry in your class?
- B Balllem knacce_KTo-TO NobUT XUMuUio?

4. They used our definition to solve the problem.
- OHU ncnonb3oBanu Haule onpegeneHne, YTobbl pewnTb Npobnem

5. To save money we built a house ourselves.
- YTOObI COKOHOMUTb AEHbLIN, Mbl MOCTPOWUN AOM CaMMU.



3apaHve 6

1. Scientists have produced a stable chemical compound to store the energy.
-YyeHble Npon3Beny CTabunbHOE XMMUYEeCKoe CoeauHEHNE ANst XPaHeHUs SHEpPruu.
Have produced-Present Perfect Active ot rnarona to produce

2. A large energy drop_can be dealt with in the first pressure stage of the impulse turbine.
- bonbLloe nageHve aHeprun MoxeT bblTb 06paboTaHo Ha NEPBON CTyNEHW AaBMNEHNS
MMMYNbCHOW TYPOUHBI.
Can be dealt with-Modal Passive ot rnarona to deal

3. They will be making the experiment the whole day long.
- OHu ByayT NPOBOANTL IKCMEPUMEHT BECH [AEHb.
Will be making-Future Continuous Active ot rnarona to make

4. It took us two hours to complete the experiment.
- Ham noHagobunock gsa yaca, YtoObl 3aBEPLUNTL IKCMEPUMEHT.
took (Past Simple Active) ot rnarona to take

5. The Sun energy 61 days in a crystal has been managed to store by Japan.
- OHeprusa CornHua 6bina ycnewHo coxpaHeHa B KpucTarnse B TevyeHne 61 aHsa AnoHuen.
Has been managed to store-Present Perfect Passive ot rmarona to manage

6. Unless he asks, do not press on him.
- Ecnu oH He cnpocuT, He HacTanBamTe Ha HEM

asks- Present Simple Active ot rnarona to ask,press-Present Simple Active ot rnarona to
press

7. The choice of material for condenser tubes_is influenced by cooling water corrosive in
nature.
Bbibop maTepmana ansa KoHOEeHCATOPHbIX TPY6O 3aBUCUT OT KOPPO3MOHHbBIX CBOMCTB
oxnaxgatoLlen Boabl B npupoge.

Is influenced-Present Simple Passive ot rarona to influence

8. By that time they had already sent their timetable.
- K ToMy BpemeHu OHM yxxe OTnpaBunn CBOe pacnmcaHue.
Had sent-Past Perfect Active ot rmarona to send

3apgaHue 7
1. All the heat must be transferred through the heating surface to reach water.
- Bcst Tennota gonmkHa nepegaBaTtbCs Yepes HarpeBaTernbHY NOBEPXHOCTb, YTOObI

OOCTUTHYTb BOAbI.

2. It should be noted that the hot end of the superheater is next to the furnace.
- CnepyeT OTMETUTb, YTO rOpsYniA KOHEL, CynepHarpeBaTenst HaXoauTCs PSAoOM C MeYbto.



3. The steam has to pass on its way through the turbine.
- Map pormkeH NpoxoauTb MO CBOEMY NyTW Yepes TypouHy

3apaHue 8

1. They had not arrived at the station by 6 o'clock.
- OHM He NpUBLININ Ha CTaHLMIO K 6 Yacam.

2. The students were not taking their exams from 9 till 12 o'clock.
- CTygeHTbl He coaBanu cBoum 3k3ameHbl ¢ 9 0o 12 vyacos.

3. She has not translated this article.
- OHa He nepeBena 3Ty cTaTblo.

3apaHve 9

The library has an excellent subject catalogue
- bubnuoteka nmeeTt OTNMYHbBIN KaTanor No npegMeTam

3apaHve 10

1. The astronomer told us that the Moon was 240,000 miles from the Earth.
- AcTpoHOM ckasan HaMm, 4To JlyHa Obina Ha pacctosHumn 240 000 munb oT 3emnu.

2. The boy did not know that water boils at 100 degrees.
- Manbuuk He 3Han, yTo Boga kunut npu 100 rpagycax.

3. He said that our friends would come here the next day.
- OH ckasan, YTo Hawu Apy3bs NpMeayT cloga Ha CrneayroLwnin AeHb.

3apanue 11

1. OpHecT Pesepdopa,ubsa paboTa no CTpyKType aTOMOB ferfnia B OCHOBY M3y4eHUsI
aTOMHOM Hayku,poguncs B HoBon 3enaHgmn.Obyyanca B konnegpke HenbcoHa npu
KeTteHOepuiickom Konnemke yHnBepcuteta Hoeon 3enangnm,ero TanaHTbl Bckope Obinn
3aMeYeHbl,n OH OblN yAOCTOEH MCCNeaoBaTenbCKOM CTUMNEHANEN ONs N3yYeHns
aKcnepuMeHTanbHon pusnkn B KeMOpraXKcKom yHuBepcuTeTe

3.B 1898 rogy Pesepdopa ctan npodeccopom husnkm B YHnsepcutete MoHpeans n B
cnegytowem rogy onybnmkoBasn CBOK NEPBYHO CTaTbio No paguoakTueHocTu. B 1907 rogy oH
BEPHYIICs B AHIMMIO, YTOObI cTaTb NpodeccopomM hunsnkn B MaHyecTepCckoM yHUBepCcUuTeTe.
OH 6b1n 06pemMeHeH MHOXECTBOM NpenogaBaTeribCkMX U aAMUHUCTPATUBHbIX
00s13aHHOCTEN, M B €ro xopoLuo o6opygoBaHHOM nabopatopuu, Npy NogaepKke Monogbix
dM13MKOB CO BCeEro mupa, Bkntovaa lenrepa, Hunbca Bopa n lN'eHpyn Moanu, oH coBepLumn
CBOW Benuyanwime oTkpbITUsi. OH 0BHapYXus, YTO aTOM COCTOUT U3 NONOXUTENBHO
3apsKEHHOrO f4pa, OKPY>KEHHOro Bpallatowmmmncs anektpoHamu. K 1919 rogy emy yganoch
npefocTaBuUTb onpeaeneHHble JoKasdaTenbCTBa TOro, YTO Koraa aTtom obnyyaertcs



pagnoakTUBHBIMW BELLLEeCTBaMU, MPOMUCXOOUT peakumnsa Mexay 9TUM U3nyyYeHnem n Sapom,
Bbl3blBaloLLIaa UCKYCCTBEHHOE pacnafeHne atoma, To eCTb ero "pacluensnieHme”.

4. B 1919 roay Pesepdopn npeB3oLLen cBoero craporo npodgeccopa k. k. TomncoHa Ha
NOCTY KaBEHAMLLCKOro npodeccopa akcnepuMeHTanbHon nankn. 3atemMm OH Havan uaydarb,
KaK Apyrve anemMeHTbl TPaHCMYTUPYIOTCS NPY MPOHUKHOBEHMM NyyYen. OTa paboTa 6bina
npogormkeHa B 1921 rogy, korga oH 1 goktop k. YaaBumk Hayanm nccnegoBaTth CBOMCTBA
HEeNTPOHA, KOTOPbIN HE UMEN 3NEeKTPUYECKOro 3apsiga U Mor NPOHMKaTh B apa aTOMOB U
TPaHCMYTUPOBATb UX.

5. Pesepcopa nonyymn MHOXeCTBO MOYETHbIX CTENEHEN, a Takke, NOMUMO CBOEro TUTyna
napa (Kotopbin oH nonyuunn B 1931 roay), 6bin ygoctoeH HobGeneBckown npemun no usnke B
1908 rogy n OpgeHa 3acnyr B 1925 rogy. Ero orpoMHoe 3HTy3na3m nepegasarsncs
CTyAEeHTaM U Konneram, Kotopble paboTtanu ¢ HAM. Ero MHOrouMCreHHbIE NEKUNOHHBIE TYpbl
n 6onee 150 ctaten n onybnMKoBaHHbIX BLICTYNSIEHUI PpacnpOCTPaHSAN BIUSIHUE ero naen
no BCeEMy MUpy.

3apaHve 12

1. What did Ernest Rutherford study?
- Ernest Rutherford studied the structure of atoms
2.What types of rays did Ernest Rutherford discover?
- His use of X-rays (discovered by Rontgen in 1895) led Ernest to his own discovery of
two other types of rays alpha and beta rays.
3. What can you tell about his other discoveries?
- I think that other discoveries of this scientist are very worthy. The most important thing
is that he with his enthusiasm was able to inspire other people to develop this
direction and study it in more detail

3apaHve 13

O6wwun Bonpoc: What work did Ernest Rutherford begin in 19197

CneuuanbHbii Bonpoc: With whom did Rutherford begin studying the properties of theneuton
in 192172

AnstepHatuBHbIn Boripoc:Did Rutherford receive the Nobel Prize before or after receiving
the peerage in 19317

PasgenutensHbii Bonpoc: Rutherford was a famous physicist, was he not?



